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; E_?-ij :I; E UNDERSTANDING A PRINTED TEXT (1)

The following text will introduce you to the topic of international trade. Look at
sections and paragraphs. Pay attention to the headings and notes in the margin.

the way it is divided into

International trade

1 International trade is part of daily life. Britons drink French wine, Americans
drive Japanese cars and Russians eat American wheat. There are two reasons why
trade between the UK and Japan differs from trade between London and
Birmingham.

First, because intemational trade crosses national frontiers, governments can
monitor this trade and treat it differently. It is hard to tax or regulate goods
moving from London to Birmingham but much easier to impose taxes or quota
restrictions on goods imported from Taiwan or Japan. Governments have to decide
whether or not such policies are desirable.

Second, international trade may involve the use of different national currencies. A
British buyer of American wine pays in sterling but the American vineyard worker
is paid in dollars. Intemational trade involves international payments.

2 We will concentrate on trade flows and trade policy. Who trades with whom and
in what commodities? Why does international trade take place? Countries trade
with one another because they can buy foreign goods at a lower price than it costs
to make the same goods at home,

Is it possible for all countries? International trade reflects exchange and
specialization. International differences in the availability of raw materials and
other factors of production lead to intemational differences in production costs and
goods prices. Through international trade, countries supply the world economy
with the commodities that they produce relatively cheaply and demand from the
world economy goods made relatively cheaply elsewhere.

These benefits from trade are reinforced if there are scale economies in
production. Instead of each country having a lot of small producers, different
countries concentrate on different things and everyone can benefit from the cost
reductions that ensue.




World exports
(billion of 1990£)
(% of US GNP)

3 We discuss the benefits from international trade and examine whether our
analysis can explain the trade flows that actually take place. There are many
circumstances in which international trade can make countries better off, but trade
can also carry costs, especially in the short run. Cheap foreign cars are great for
British consumers but less good for unemployed UK car workers.

Because foreign competition makes life difficult for some voters, governments
are frequently under pressure to restrict imports.

Trade patterns

4 Every international transaction has both a buyer and a seller. One county’s
imports are another country’s exports. To measure how much trade occurs we can
measure the total value of exports by all countries or the total value of imports.
Table 12-1 shows the value of world exports and, as a benchmark, the value
relative to GNP in the world’s largest single economy, the United States.

5 World trade has grown
rapidly since 1950, at an

1928 1935 1950 1973 2003 average annual rate of 7.4
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18 to 32 per cent. Details for selected countries are shown in Table 12-2. World exports are now around 20 per
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The Great Depression of the 1930s and the Second World War
virtually destroyed international trade. Measured relative to US GDP,
2003 it was not until the 1960s that world trade regained its level of 1928.

2 6 As trade has grown, both in absolute terms and relative to the size
67 of national economies, the interdependence of national economies
28 has increased. Like many of the countries in table 12-2, Britain is now
o a very open economy. Smaller countries are usually more open.
Trade between Paris and Brussels is international but trade between
28 New York and California is not. Events in other countries affect our
11 daily lives much more than they did 20 years ago. We now look at
- the facts about who trades with whom.
World trade patterns

7 Table 12-3 shows the pattem of trade. The industrial or developed countries
include Western Europe, North America, Japan, Australia and New Zealand, the
rich countries with the largest share of world trade and world income. The
remaining countries are the less developed countries (LDCs) — with low per capita
incomes — ranging from the very poor, such as China and India, to neasly rich,
such as Brazil.

Table 12-3 shows that half of world trade is between rich, industrial countries.
Only 27 per cent does not involve these countries at all. World trade is organized
around the rich countries.
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The commodity composition of trade

8 In rich countries, services are most of value added or GDP.
International trade in services is growing rapidly but from a small
baseline. Trade in goods — or merchandise trade — remains
important because many countries import goods, add a little value
and then re-export them. The value added makes a small
contribution to GDP but gross flows of imports and exports of goods
are large. By importing goods, adding a little value and re-exporting, LDCs
it is even possible that the value of exports exceeds the value of

GDP itself.

Destination

9 Table 12-4 distinquishes between primary commodities
(agricultural commodities, minerals and fuels) and
manufactured or processed commodities (chemicals, steel,
cars). Primary products fell from 50.5 per cent of world | Primary commodities:
trade in 1955 to only 24.9 per cent in 2002. In contrast, the
share of manufacturesin world trade rose by over 25 per
cent.

Although the EU mainly exports manufactures, Table 12-5 Other minerals
shows that primary products are a fifth of EU exports. The | manufacture

EU has to import many raw materials but imports of wholly

or partly finished manufactures are three-quarters of EU-

imports. US trade shows the same pattern.

% share of

Food, agriculture

Fuels

10 Asian countries export fewer primary products and

Rich countries

import more primary products than the EU or North =y
America. Asia concentrates heavily on exports of | % of exports
manufactures: in Europe we buy lots of products from Primary 19.3
Sony, Canon, Mitsubishi and Daewoo.

Manufacture 80.7
World trade: the issues % of imports

Primary 24.3
11 Tables 12-1 to 12-5 set out the facts. World trade has

Manufacture - 75.7

grown faster than world income and is increasingly
important. Half of all international trade is between rich,

industrial countries, which are also the main export market for LDCs. A fifth of
world trade is in primary products, the rest in manufactures. These facts help
explain some of the key issues in world trade.

12 Raw material prices

LDCs claim that industrial countries exploit them by buying raw materials at a low
price and returning manufactured goods at a much higher price. Producers of
coffee, sugar, copper and many other products would like to be able to copy OPEC
and triple the price of their primary products without suffering a significant
reduction in the quantities demanded.

13 Agricultural protection

Farmers in rich countries not only receive agricultural subsidies, such as those
through the EU Common Agricultural Policy, but also enjoy protection behind high
tariffs on imported farm goods. LDCs complain that exclusion of their exports from
the richest markets not merely reduces the quantity of what they can sell but also
forces down the price when all their supply must be absorbed in the remaining
wortd markets to which they have access.

Rich

37

16

1955
50.5
22.3

3.8

49.5

N.America

23.1

76.9

Origin

LDCs

20

27

2002

24.9
19.3

9.8

75.1

Asia

16.4
83.6

28.9
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14 Manufactured exports from LDCs

LDCs want to make their own manufactured goods and export them to the industrial
countries. Brazil, Mexico and Korea already have major manufacturing industries. But
exports to industrial countries have led to complaints in industrial countries that jobs
are being threatened by competition from cheap foreign labour.

In some industries, such as cars and steel, established firms in Europe and the US
are being undercut by producers in East Asia. Should Asian exports be restricted to
prevent massive job losses in Western Europe and North America, or should rich
countries take advantage of low costs in Asia?

15 Globalization

Lower transport costs and better information technology are gradually breaking down
the segmentation of national markets and increasing competition between countries.
This trend has been reinforced by reductions in tariffs as a matter of policy.
Sometimes the pace of change has been rapid.

However, poor countries feel that the process is largely dictated by rich countries
according to their own self-interest. LDCs feel pressurized to dismantle their own
| tariffs and allow in foreign investors, ‘while rich countries remain reluctant to pay
attention to concermns of LDCs. By raising the demand for LDC exports, reducing
agricultural protection in rich countries might do more to help LDCs than the entire

programme of foreign aid.

Now read the text carefully, looking up any new items in a dictionary or reference book. Then answer the
following questions:

international Britons Birmingham quota vineyard .
specialization Brussels daily lives merchandise

processed commodities - chemicals to import imports
to export \' exports wholly subsidies exclusion

access pressurized dismantle reluctant
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Find the following English word-combinations in Text 1 and translate them into Russian:

to impose quota restrictions on

to reinforce the benefits

scale economies

to carry costs

as a benchmark

world trade patterns

the commodity composition of trade
manufactured or processed commodities
wholly or partly finished manufactures

to suffer a significant reduction

to enjoy protection behind high tariffs

to force down the price

to be undercut by producers in East Asia

take advantage of low costs

to break down the segmentation of national markets
as a matter of policy

to dismantle tariffs

to allow in foreign investors

Find in Text 1 English equivalents to the following words and word combinations:

‘NepeceKarb roCyAapCTBEHHbIE rPaHuLibl
BHELIHETOProsbi€ NOTOKU

orpaHuyneaTb UMNOPT

BblpaCTun B aﬁ(Z/OnlOTHOM BbIpaXX€HUU
B3auM03aBUCUMOCTb HaLMOHANbHBIX 3KOHOMUK
pa3suBalomecs CTpaHbl

MEXIYHApOAHas TOPro.s yCnyramm
TOprosng Togapamu (2)

OCHOBHbIE BUAbI CbIPbs

ey 4

T

" OCHOBHOIA 3KCMOPTHbBIA PbIHOK

nony4yaTb CybcuanM Ha passuTre CENTbCKOMO
Xo3qaicTea

EanHan cenbckoxo3aiticteeHHas nonutuka E3C
NpeaoTBPaTUTL MACCOBBLIE YBOJIbHEHWS

TeMn nepeMeH

UCNbITbiBATb AaB/IEHUE

MEX/IYHAPOAHBIE MPOrPaMMbl MOMOLLM
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Read the following text carefully, looking up anything you do not understand.

Good and bad arguments for tariffs

1 Table 12-6 lists some of these arguments. We group | Type Example

them under several headings The first-best argument is
a case where a tariff is the best way to achieve a given

objective. Second-best arguments are cases where a | Second-best Way of life, anti-luxury,
tariff is better than nothing, but where there is another infant industry, defence, revenue
policy it is better still if it can be implemented. Non- | Strategic Games against foreigners

arguments are partly or completely fallacious.
2 The optimal tariff: the first-best argument for tariffs

In presenting the case for free trade, we were careful to assume that the domestic economy
can import as many cars as it wished without bidding up the world price of cars. For a small
economy this is a reasonable assumption. However, imports by a large country may be large
relative to the world market and bid up the world price of those commodities.

In this case, the world price of the last unit imported is ower than the true cost of
the last unit to the importing economy. In demanding another unit of imports, the
economy raises the price it has to pay on the quantity already being imported. But in a free
trade world without tariffs, each individual thinks only about the price he or she pays. No
single individual bids up the price but collectively they bid up the price of imports.

3 Under free trade, each individual buys imports until the benefit to that individual
equals the world price he or she pays. Since the collective cost of the last import
exceeds its world price, the social cost of that import exceeds the benefit. There are
too many imports. Society gains by restricting imports until the benefit of the last
import equals its social cost.

When imports affect the world price, the optimal tariff reduces

imports to the level at which social marginal cost equals social

marginal benefit. ‘

A small country's imports have no effect on the world price of its imports. The
marginal social cost of imports then equals the world price. Then, and only then, is
the optimal tariff zero. Free trade is then first best.

The optimal tariff is a straightforward application of the principles of efficient
resource allocation discussed earlier.

4 Second-best arguments for tariffs

We now introduce the principle of targeting.

The principle of targeting says that the most efficient way to

attain a given objective is to use a policy influencing that

activity directly.
The optimal tariff is a first-best application of the principle of targeting precisely
because the source of the problem is a divergence between social and private
marginal costs in trade itself. A tariff on trade is the most efficient solution. The
arguments for tariffs that we now examine are all second-best arguments because
the original source of the problem does not directly lie in trade. The principle of
targeting assures us that there are ways to solve these problems at a lower net
social cost.

First-best Foreign trade monopoly

Non-argument  Cheap foreign labour
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5

Suppose society wishes to help inefficient farmers or craft industries. It believes
that the old way of life, or sense of community, should be preserved. It levies
tariffs to protect such groups from foreign competition.

There is a cheaper way to attain this objective. A tariff helps domestic producers
but hurts domestic consumers through higher prices. A production subsidy would
still keep farmers in business and, by tackling the problem directly, would avoid
hurting consumers. In terms of Figure 12-1, triangle A shows the net social cost of
subsidizing domestic producers so they can produce Q's rather than Qs. But a
tariff, the second-best solution, also involves the social cost given by the triangle
B. ‘

6

Some poor countries believe it is wrong to allow their few rich citizens to buy Rolls-
Royces or luxury yachts when society needs its resources to stop people starving.
A tariff on imports of luxuries reduces their consumption but, by raising the
domestic price, may also provide an incentive for domestic producers to use scarce
resources to produce them. A consumption tax tackles the problem directly and is
more efficient.

7

Some countries believe that, in case there is a war, it is important to preserve
domestic industries that produce food or jet fighters. Again, a production subsidy
rather than an import tariff is the most efficient way to meet this objective.

8 ;

A common argument for a tariff is that it allows infant industries to get started.
Suppose there is /earning by doing. Only by actually being in business do firms
learn how to reduce costs and become as efficient as foreign competitors. A tariff
provides protection to infant industries until they master the business and can
compete on equal terms with more experienced foreign suppliers.

Society should invest in new industries only if they are socially profitable in the
long run. The long-run benefits must outweigh the initial losses during the period
when the infant industry is producing at a higher cost than the goods could have
been obtained through imports. But in the absence of any divergence between
private and social costs or benefits, an industry will be socially profitable only if it is
privately profitable.

9 If the industry is such a good idea in the long run, society should begin by
asking why private firms cannot borrow the money to see them through the early
period when they are losing out to more efficient foreign firms. If private lenders
are not prepared to risk their money, society should ask whether the industry is
such a good idea after all. And if the industry does make sense but there is a
problem in the market for lending, the principle of targeting says that the
government should intervene by lending money to private firms.

Failing this, a production subsidy during the initial years is still better than a
tariff, which also penalizes consumers. The worst outcome of all is the imposition
of a permanent tariff, which allows the industry to remain sheltered and less
efficient than its foreign competitors long after the benefits of learning-by-doing
are supposed to have been achieved.
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10

In the eighteenth century, most government revenue came from tariffs.
Administratively, it was the simplest tax to collect. Teday this is still true in some
developing countries. But in modern economies with sophisticated systems of
accounting and administration, the administrative costs of raising revenue
through tariffs are not lower than the costs of raising revenue through income
taxes or taxes on expenditure. The balance of tax collection should be
determined chiefly by the extent to which taxes induce distortions, inefficiency
and waste, and the extent to which they bring about the distribution of income
and weaith desired by the government. The need to raise revenue is not a
justification for tariffs themselves.

11 Strategic trade policy
In analysing strategic confiict between oligopolists game theory is useful. In
intemational trade, strategic rivalry may exist either between the giant firms or
'national champions' of different countries, or between governments acting on their
behalf. Strategic intemational competition may justify industrial policy. For example,
initial govemnment subsidies to the European aircraft producer Airbus Industrie were a
pre-commitment to deter Boeing from trying to force Airbus out of the industry.
Similar considerations arise in trade policy. Levying a tariff on imports, thereby
protecting domestic producers, may deter foreigners from attempting a price war to
force the domestic producers out of the industry and may prevent foreign producers
from entering the industry.

12 This sounds like a very general and robust argument for tariffs but it should be
viewed with considerable caution. If it is attractive for one country to impose tariffs for
this purpose, it may be as attractive for foreigners to retaliate with tariffs of their own.
We then reach an equilibrium in which little trade takes place, domestic giants have
huge monopoly power since they no longer face effective competition from foreigners,
and all countries suffer. .

All countries may be led to impose tariffs even though all would be better off if they
were abolished. This suggests there is a role for international co-operation to agree on,
and subsequently enforce low tariffs.

13

Dumping occurs when foreign producers sell at prices below

‘their marginal production cost, either by making losses or

with the assistance of government subsidies.
Although the preceding discussion relates to tariffs, it can also be applied to
trade subsidies. :

Domestic producers say this is unfair and demand a tariff to protect them

from foreign competition. If we knew foreign suppliers would supply cheap goods
indefinitely, we should say thank you, close down our more expensive industry,
and put our resources to work elsewhere. To this extent dumping is a non-
argument for a tariff.

14 However, foreign producers may be engaged in predatory pricing meant to
drive our producers out of the industry. Once the foreigners achieve monopoly
power in world markets, they raise prices and make big profits. If so, it may be
“wise for our government to resist. Even so, a production subsidy is the efficient
way to insulate our producers from this threat. A tariff has the undesirable side
effect of distorting consumer prices. -
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15 Non-arguments for tariffs

Home producers frequently argue that tariffs are needed to protect them from
cheap foreign labour. Yet the whole point of trade is to exploit international
differences in the relative prices of different goods. If the domestic economy is
relatively well endowed with capital, it benefits from trade precisely because its
exports of capital-intensive goods allow it to purchase more labour-intensive goods
from abroad than would have been obtained by diverting domestic resources to
production of labour-intensive goods.

As technology and relative factor endowments change over time, countries'
comparative advantage alters. In the nineteenth century Britain exported Lancashire
textiles all over the world. But textile production is relatively labour-intensive. Once
the countries of South-East Asia acquired the technology, it was inevitable that their
relatively abundant labour endowment would give them a comparative advantage in
producing textiles.

Cornparative advantage means a country makes the good relatively
more cheaply than it makes other goods, whether or not it has an
absolute advantage. Absokrte advantage means the country is the
lowest cost producer of that good.

16 New tednology frequently gives a country a temporary comparative advantage in
particular products. As time elapses, other countries acquire the technology, and
relative factor endowments and relative factor costs become a more important
determinant of comparative advantage. Inevitably, the domestic producers who have lost
their comparative advantage start complaining about competition from imports using cheap
foreign labour.

In the long run the country as a whole will benefit by facing fads, recognizing that its
comparative advantage has changed, and transferring production to the industries in
which it now has a comparative advantage. And our analysis of comparative advantage
promises us that there /must be some industry in which each country has a comparative
advantage. In the long run, trying to use tariffs to prop up industries that have lost their
comparative advantage is futile and costly.

Of course, in the short run the adjustment may be painful. Workers lose their jobs
and must start afresh in industries where they do not have years of experience and
acquire skills. But the principle of targeting tells us that, if society wants to smooth this
transition, some kind of retraining or relocation subsidy is more efficient than a tariff.

17 Why do we have tariffs?

Aside from the optimal tariff argument, there is little to be said in favour of tariffs.
Economists have been arguing against them for well over a century. Why are tariffs
still so popular?

A tariff on a particular commodity helps a particular industry. It is easy for firms and
workers in an industry to organize effective political pressure, for they can all agree
that this single issue is central to their livelihood, at least in the short run. But if the
tariff is imposed, the cost in higher consumer prices is borne by a much larger and
more diverse group of people whom it is much harder to organize politically. Hence,
politicians heed the vociferous, well-organized group lobbying for tariffs, especially if
they are geographically concentrated in an area where, by voting together, they
have a significant effect on the outcome of the next election.
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18

Why does government assistance often take the form of tariffs rather than
production subsidies, frequently more appropriate? First, because if domestic
industry is suffering from imports of Japanese goods, the solution seems to be
to do something that hurts Japan directly. Second, because the government
would have to raise taxes to finance a production subsidy. A tariff is often
politically easier because it seems to augment government revenues (raising
hopes of an income tax cut), whereas a subsidy seems to deplete government
revenues (raising fears of higher tax rates). You now know that a tariff hits
consumers directly by raising the domestic price of the good, but the
government may be able to invoke impersonal 'market forces'. Tariffs cause the
government less political hassle.

Answer the following questions:

1.

fallacious targeting divergence subsidy triangle

outweigh justification strategic rivalry giant
deter caution retaliate dumping predatory

insulate endowed _Lancashire futile livelihood
diverse politician vociferous augment hassle
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Find the following English word-combinations in Text 2 and translate them into

Russian:

first-best argument

second-best arguments

principle of targeting

to tackle the problem directly

to suppress luxuries

infant industries

learning by doing

to see a firm through the early period

to remain sheltered

to induce distortions, inefficiency and waste
to bring about the desired distribution of income

justification for tariffs

'national champions’ of different countries
to deter foreigners from attempting a price war
to be engaged in predatory pricing

to insulate producers from the threat
to exploit international differences

to be well endowed with capital
capital-intensive goods

as time elapses

to smooth the transition

to be central to sb’s livelihood

Find in Text 2 English equivalents to the following collocations:

COBEPLLIEHHO OLINGOYHBIN

u3narartb JOBOAbI B NOJb3y

B YCNOBUSIX CBOOOAHOM TOProB/M

OrpaHnuMBaTL UMNOPT

NPeAEnbHbIE U3AEPKKU A5 OOLLECTBA

npeaesnbHas OoLECTBEeHHANA BbIroAA

HeNnoCcpeACTBEHHOE NPUMEHEHNE NPUHLIMNA

PACXOXKAEHUS MEXAY U3JEPXKaMU OOLLECTBA U
YaCTHBLIMU NPEAENbHBIMUA U3AEPKKAMU

MPUUMHA NPOSAEMbI KPOETCS B

KyCTapHoe/peMeieHHOe NPOU3BOACTBO

COXPaH!TL YyBCTBO OBLUHOCTU (NPUHAANEXHOCTU K
JAAHHOMY COOOLLIECTBY)

OrpaAnTb OT KOHKYPEHLUW CO CTOPOHBI
WMHOCTPaHHbIX KOMNAHUA

KOHKYPWUPOBATb Ha PaBHbIX YCHOBUAX

NPOUrPbIBaTH MHOCTPAHHBLIM KOMMNAHUSM

IeMCTBOBATb OT UMEHU

BbITECHATb OTEUECTBEHHbBIX NPOU3BOAUTENEN U3
oTpacm (2)

HAHECTU OTBETHLIN YAP B BUAE Tapudos

BCSl CyTb TOProBAKN 3aKJIOYAETCA B...

TPYAOEMKUE TOBapb

obecneyeHHOCTb PaKkTopaMu NPOM3BOACTBA

CPaBHUTENBHOE NPENMYLLIECTBO

(MCKYCCTBEHHO) NOAAEPXMBATL OTPAC/IA

HayaTb 3aHOBO

A0TALMA HA NEPENnOArOTOBKY WK Nepee3s

OKa3blBaTb 3HAYUTENBHOE BIMSIHWE HA pe3y ibTarbl
MpeacToauwmMX Bbibopos

YBE/IMYUTb rOCYAapPCTBEHHbIE JOXOAb!

UCTOLLATH FOCYAAPCTBEHHbIE NMOCTYN/IEHUS

Bbi3bIBATH CTPAxM

CCbUNATLCS Ha GE3/IMKME ‘PhIHOUHBIE CUMbI’

NPUBECTU K PA3HOrNIACUAM Cpeau NONUTUKOB
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10.

Explain whether the following statements are true or false.

When Argentina began to export beef in increasing quantities, U.S. exports fell; this shows that some
countries may be made absolutely worse off through international trade.

As long as the world price of a commodity is below the home country’s equilibrium price, there will be some
imports into the domestic market.

When a tariff is imposed on an import, there is a transfer of revenue from the government to producers.

The law of comparative advantage holds without question for the simple two-good, two-country case;
however it breaks down when there are many goods and many countries.

Most economists are opposed to tariffs because tariffs interfere with free trade.

When quotas are imposed on imported goods, domestic producers are removed from the threat of foreign
competition.

If a country is more productive in every sector than a neighboring country, then there is no benefit in trading
with the neighboring country.

Beginning with a free trade equilibrium and imposing an import tariff, increases the domestic price of imports
leading to monetary transfers and to pure waste.

Tariffs always distort trade and are never justified,

Export subsidies do not involve waste.

Translate into English:

B nocneanne 40 ner mMupoBas ToOproBasi 6bICTPO poCia, NPU 3TOM B HE AOMWHUPYIOT NPOMBILLNEHHO
Pa3BUTbIE CTPAHbI.

Mpumepro 25% MWPOBOM TOPFOBAM NPUXOAWUTCS HA OCHOBHbIE BUAbl Cbipbsi (NOME3HLIE WCKONAEMbIE,
NPOAYKLMIO CESIbCKOrO XO39WCTBA, TONIMBO), OCTANIbHOE COCTaBASIOT NPOMbILUIEHHbIE TOBApbI.

CTpykTypa TOprossav B pa3fMuHbiX CTpaHax BeCbMa pa3HoobpasHa. bonee 6epHble pa3BuBatOLMECs CTPaHbl
CKJIOHHBI 3KCMOPTUPOBATL NPOAYKTbI MUTAHWS U CbiPbE€, @ WMMMOPTMPOBATb — MPOMBILL/IEHHBIE TOBApbI.
MHAyCTpUranbHble CTpaHbl, HaNpuMep SANOHUs, UMMOPTUPYIOT CbIPLEBbLIE TOBAPLI MU SKCNOPTUPYIOT NPOAYKLMIO
nepepabaTbiBatoLen npoMbiuieHHOCTY, B CoemrerHbix LiraTax cyluecTBeHHa A0NS ChiPbEBbIX TOBAPOB KaK
B MMNOPTE, TaK 1 B IKCMOpTE. '

CTpaHbl TOPrytloT MeXAy COOOW, MOTOMy UTO OHW MOrMYT NOKYNatb TOBapbl y APYrUx CTpaH no 6onee
jeweson ueHe. Pa3HMLLA B M3AEPKKaX MPOU3BOACTBA BO3HMKAET B pe3yfibTaTe pasiMuMini B MeEToAax
NpOM3BOACTBa M AOCTYNMHOCTU (PAKTOPOB NPOM3BOACTBA. Kpome TOro, 3KOHOMMS OT Macwmaba Aenaer
CNeuuanu3aLuio NPOM3B0ACTBaA IMDEKTUBHOM.

B ycnoBuax, KOTAQ HOBbIE TEXHOMOIMU CTPEMUTENLHO «MNEPECeKaloT rPaHULIbI», OTHOCUTENbHO BbICOKas
KanuTanoBOOPYXXEHHOCTb ABNSETCS OCHOBHOW MPWYMHON Pa3fiMuMii B OTHOCMTENbHLIX M3AepwKkax. CTaHbl
MPOU3BOAAT U KCNOPTUPYIOT T€ TOBAPbI, ANS MPOU3BOACTBA KOTOPbIX WHTEHCMBHO UCMO/Ib3YIOTCS PECYpCh,
UMEIOLLIMECS B OTHOCUTESIbHOM U306MANK.

BHyTpuoTpacneBas Toproenist  00yCnOBNEHA 3KOHOMMEW OT MacwTaba u  TeM, 4ro noTpebuTenu
NPeAnouYnTAIOT pasHoobpasue. 3a CueT MPOU3BOACTBA AJ19 MUPOBOIO PbiHK@ Y (UPM  CHMXAKOTCS
NPOU3BOACTBEHHbIE U3AEPKKW. [lOTPEOUTENN U3BNEKAIOT BbLIrOAY, NOMy4Yasi BO3MOXHOCTb BbiGopa Mexay
MMNOPTMPYEMBIMU U OTEUECTBEHHBIMW TOBapaMu.

MupoBas TOproBns MOPOXAAET KOHMDAMKTBI MeXJAy WHTepecamm noTpebuteneilt u npov3BOAMTENEN.
[lewesbiid UMMOPT BbIrOAEH MOTPEOUTENIO, HO HAHOCKT yLIEp6 OTeuecTBEHHOMY npou3soguTento. Cybcmaum
3KCMOPTY BbINOAHDLI AAS MPOM3BOAUTENS, HO BPEASAT NOTPEOUTENIO.

Tapud yBeNMUMBAET OTEUECTBEHHYIO LIEHY UMMOPTUPYEMbIX TOBApoB. OH NPEnsTCTBYET POCTY NoTpedneHus,
HO yBEAMUMBaeT 06beM OTEYECTBEHHOro MPOU3BOACTBA. MMMOPT COKPAWLAETCS KaK B pe3ynbTaTe TOro, YTo
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COBOKYMHOE NOTpebneHue TOBApOB NAAJeT, Tak U B Pe3ysbTaTe TOr0, YTO OTEUECTBEHHOE MPOM3BOACTBO

yBEnUUUBaETCS.

9. 3a nocneanme 40 net Tapudbl U Apyrve HeTapudHble Gapbepbl 3HAUUTENHHO COKPaTU/INCb. TOProBbIi
MPOTEKLMOHU3M A0POrO O6XOAUTCS OBLUECTBY, HO MPaBUTENLCTBO YACTO NMPUGEraeT K HeMy, TaKk Kak, C

NONUTUYECKON TOYKU 3PEHNA, OH NPOLLIE U BbirOAHEE.

Read the text carefully. Point out the essential problems touched upon. Suggest a plan of

the text in the form of statements in Enghsh Summarize the textin Engl:sh

d-combinations can be of use:;

followis LY

Bonpoc uectun

Aenc Xapmann Die Welt

Kpemnb Aenaer craBku Ha YneHcTso Poccui 8 BTO — MEXAY NPUTASAHUAMU U PEANBHLIM FOAOXEHUEM BELEH

3user nponacre

Wean denopoB He OTBEYAGT Ha  INEKTPOHHbIE
NO0CNaHus, A0 HEro HeBO3MOXHO AO03BOHWUTLCS, a ero
¢doTorpadun  He Haldewb HU B OAHOW raseTe.
®epnopos, 4yenosek 6e3 ronoca v nuMUa, HECMOTPS Ha
BCe 3TO, SBAAETCS OAHMM U3 CaMbIX YCMEeWHbIX
npeanpuHuMaTenert B Poccuu. OH Bnageneu cawta
Allofmp3.com. CepBuC NO CKAYUBAHUIO MY3blKabHbIX
dannos ¢ oucoM B MOCKBE COCTaBASET CEPbE3HYI0
KOHKYpPeHUUIo iTunes.

Ha >3TOoM aHrnossbiyHOM cante nobutTenu My3biku
HalAYyT HEOrPaHUYEHHbIW ACCOPTUMEHT BCEBO3MOXHbIX
anbbomoB u neceH. 3a 1,07 ponnapa MOXHO
npuobpectu, k npumepy, CD Takoro UCNOAHUTENS, KakK
Sportfreunde Stiller noa Hassaxuuem "You have to win
Zweikampf". LieHa 33aBUCUT oT BEUNYUHBbI
ckaumsaeMmoro ganna. B cpegHeMm, 04HYy NECHIO MOXHO
cka4aTe 3a 10 ueHTOB. [ins cCpaBHeHMs: iTunes
TpebyeT 3a aHanorudHbie ycayrm 99 uewtos. WMHoraa
KONM4eCcTBo knnenToB ®egoposa AoxoauT Ao 500 ToiC.
yenoBeK B Mecsal.

CunbHO. HO HezakoHHO. "WcTtopus rnobanbHoro
ycnexa", - Ha3biBaeT BCe 3T0 International Herald
Tribune wn po6asnger: "3a WCKNKOUEHUEM OAHOWU

BaXHOW AeTanun: AesTenbHOCTb CalTa, CKOpee BCero,
NPOTUBOPEYUT 3aKOHY".

"370 6ecnpeuedeHTHbIA Cydanm TOro, Kak nnpaTckui
UHTEpPHEeT-CanT OTKPbITO CyllecTByeT cTonb
npoAonxurensHoe spemsa”, — cetyeT Hein Typkosuy,
Buue-npes3unaeHT Recording Industry Association of
America. O6bl4HO MOAYanuBbLIA PeJ0POB BO3paXAET Ha
370, YTO OH HE HapyLwWwana HUKaKKUX 3aKOHOB.

Ecnn ®enopoB 40 HACTOSILLEro BPEMEHW Nosarancs Ha
noaAepxXKy CcyaebHon CcucremMbl U Munuuuu, TO B
CKOpPOM BpEMEHW MNOAUTUKA MOXET O0TKaszaTb eMy B
6narocknoHHocTu. ExerogHo ®epopos M Co. HAHOCAT
wHaycTpuu passnedenuin CLHA ywepbt B pasmepe
HECKONIbKUX MWINMapaos AOANApoB. Noatomy
AeaTenbHOCTb canTta Allofmp3.com crana 0AHOW U3 TeM
Ha neperosBopax Mexay TOpProBblM npeacraBuTenem

ClWIA Chlo3aH lLUBab MU MUHUCTPOM 3KOHOMUYECKOrO
passutus u Toprosnu P® [epmaHom [pedom no
nosoAy BCTynsieHus Poccun B8O BCeMUpPHYIO TOpProsyto
oprasu3auuio.

CLlUA sBast0oTCA nocneaHen CtpaHon, Kotopas
CBOEro Cornacus Ha BCTynneHne Poccun
Hapsay C yCOBepLIEeHCTBOBAHUEM 3aWmnThI
MHTENNEKTYaNbHOW CO6CTBEHHOCTM AMepuka Tpebyer
oT Poccum nubepanusauum @OUHAHCOBBLIX PbIHKOB,
YEeCTHOro JAoCTyna’ K PblHKY AAS  WHOCTPaHHbIX
npeacraBuTenei  aBUAUMOHHOW  MPOMbILAEHHOCTU,
nubepanusauum HedTAHOrO M ras’oBOro cexkropa, a
TaKxXe CTPEM/IEHUSA K yCTynKaM B arpapHoM Bonpoce.

He pana
B BTO.

Poccus asnsetcsa nocneaHen NpPOMbILLIEHHO Pa3BUTON

CTpaHoun, koTopas ewe He BcTynuna B psiabl BTO.
MNeperosBopbl 0 BCTyM/€HWW HayanucCb eule npu
npesnaeHte bopuce EnbuuHe B 1993 roay. Ero

npeeMuuk Bnaaumup MNyTuH 13 neT cnycrs xo4eTr
caenatb Poccuto 150-M yneHom BceMupHOWA TOprosown
opraHusaLuu.

Mpwu 3ToM Poccus, He 6yayuu yneHom BTO, sBnsetcs
BEJIMYNHON B MEXAYHapoAHOW Toprosne. B npownom
rody o60poT OT BHewHei Toprosnu cocrasun 370,4
MApPA A0ARapos, 4yTo Ha 33,2% 6onbwe, 4yem B 2004
rogy. Yucras npubbuib cocrasuna 118 wmMnpa
AONNapos.

3KCNOPTHLIA MUKC BbITISAUT CaeaylowmuM obpasomM:
63,9% cocraBnseT 3kCnopT HedTu w rasa, 14%
NpuUXoAMTCS Ha MeTann, 3,4% - Ha NpPoAyKUMIO
AepesoobpabaTbiBaloliein W LENIA03HO- 6yMa>«Hou
MPOMBbILUNEHHOCTH, 5,6% = Ha TEXHUKY,
060pyA0OBaHNE n TPAHCNOPTHbie cpeacrea, 5,9% - wHa
XuMuueckyw  npoaykuuto.  CTpyktypa  wMmnopta
BbIr9AUT Tak: 44% — 370 TexHwuka u o6opyaoBaHue,
17,7% - cenbxo3npoayKuuss W MNpOoAyKTbl NMWUTaHWA,
16,5% - npoayKuMs XMMUYECKON MPOMbILIEHHOCTH,
CtpaHa, 6oraTtass npupoaHbiMW pecypcamu, MUMerT
TaKyld K& CTPyKTYpY BHEWHeN TOprosan, Kak
pa3BvBaloWANCS CTpaHa.
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